

21(14) Mathy  
 page - 1st, for A  
 summation of series  
 or binomial

$$\tan^{-1} x + \tan^{-1} \frac{x}{1+x^2} + \tan^{-1} \frac{x}{1+2x^2} + \dots + \tan^{-1} \frac{x}{1+n^2 x^2}$$

$$t_n = \tan^{-1} \frac{x}{1+n^2 x^2}$$

$$= \tan^{-1} \frac{nx - (n-1)x}{1+nx(n-1)x}$$

$$\left. \begin{array}{l} \tan^{-1} \frac{nx}{1+nx} \\ \tan^{-1} \frac{(n-1)x}{1+(n-1)x} \end{array} \right\} = \tan^{-1} nx - \tan^{-1} (n-1)x$$

$$t_n = \tan^{-1} nx - \tan^{-1} (n-1)x$$

$$t_1 = \tan^{-1} x - \tan^{-1} 0x$$

$$t_2 = \tan^{-1} 2x - \tan^{-1} x$$

$$t_3 = \tan^{-1} 3x - \tan^{-1} 2x$$

$$\vdots$$

$$t_n = \tan^{-1} (nx) - \tan^{-1} (n-1)x$$

$$\therefore S = \tan^{-1} nx - \tan^{-1} 0$$

$$= \tan^{-1} nx - 0 = \tan^{-1} nx \quad \underline{\underline{\text{Ans}}}$$

Q. (14)  $\tan^{-1} \frac{1}{2 \cdot 1 \cdot 2} + \tan^{-1} \frac{1}{2 \cdot 2 \cdot 2} + \tan^{-1} \frac{1}{2 \cdot 3 \cdot 2} + \dots + \tan^{-1} \frac{1}{2n \cdot n \cdot 2}$

$$\text{Here } t_n = \tan^{-1} \frac{1}{2n^2} = \tan^{-1} \frac{2}{4n^2}$$

$$= \tan^{-1} \frac{2}{4n^2 - 1 + 1}$$

$$= \tan^{-1} \frac{2}{1 + (2n+1)(2n-1)}$$

$$= \tan^{-1} \frac{(2n+1) - (2n-1)}{1 + (2n+1)(2n-1)}$$

$$t_n = \tan^{-1} (2n+1) - \tan^{-1} (2n-1)$$

$$\therefore t_1 = \tan^{-1} 3 - \tan^{-1} 1$$

$$t_2 = \tan^{-1} 5 - \tan^{-1} 3$$

$$t_3 = \tan^{-1} 7 - \tan^{-1} 5$$

$$\vdots$$

$$t_n = \tan^{-1} (2n+1) - \tan^{-1} (2n-1)$$

$$\text{Adding } S = \tan^{-1} (2n+1) - \tan^{-1} 1$$





$$t_1 = \tan^{-1} 3 - \tan^{-1} 1 \quad (3)$$

$$t_2 = \tan^{-1} 4 - \tan^{-1} 3$$

$$t_3 = \tan^{-1} 5 - \tan^{-1} 4$$

$$t_4 = \tan^{-1} 6 - \tan^{-1} 5$$

$$t_5 = \tan^{-1} 7 - \tan^{-1} 6$$

$$t_{n-2} = \tan^{-1} n - \tan^{-1}(n-2)$$

$$t_{n-1} = \tan^{-1}(n+1) - \tan^{-1}(n-1)$$

$$t_n = \tan^{-1}(n+2) - \tan^{-1} n$$

Adding  $S = \tan^{-1}(n+2) - \tan^{-1}(n+1) - \tan^{-1} n + \tan^{-1}(n-1)$

1. (vii) Here  $t_n = \cot^{-1}(1+n+n^2)$   
 $= \tan^{-1} \frac{1}{1+n+n^2} = \tan^{-1} \frac{1}{1+n(n+1)}$

2. (i)  $\tan x \tan(x+y) + \tan(x+y) \tan(x+2y) + \dots$   
 Summation of terms

Now  $\tan y = \tan \{ (x+y) - x \}$

$$\text{or } \tan y = \frac{\tan(x+y) - \tan x}{1 + \tan(x+y) \tan x}$$

$$\cot y = \frac{1 + \tan(x+y) \tan x}{\tan(x+y) - \tan x}$$

$$\text{or } 1 + \tan(x+y) \tan x = \cot y \{ \tan(x+y) - \tan x \}$$

$$\text{or } \tan x \tan(x+y) = \cot y \{ \tan(x+y) - \tan x - 1 \}$$

$$\tan(x+y) + \tan(x+y) = \cot y \{ \tan(x+y) - \tan x - 1 \}$$

$$\tan(x+y) \tan(x+y) = \cot y \{ \tan(x+y) - \tan x - 1 \}$$

Summation  $S = \cot y \{ \tan(x+y) - \tan x \} - n$